OCTOBER 2012 U/ID 46436/UCCF

Time : Three hours Maximum : 100 marks

PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1.  Define dead lock.
Qawenn Hlene - cuenFuwim).

2. What is called compaction?
SMDUTEHFET TN ADLPESLILI(HEUG] CTETET ?
3. What do you mean by non-preemptive scheduling?
Non-preemptive scheduling upm § <idleug) eremen?
4.  What is throughput?
SI(HL|L_ GTEIMITC) 6TGITET ?
5. What is microprocessor?
BIGRT QFUIDHLITTEIE GTETLIG) 6TEITET?

6. What is swapping?

eveUTLIIE GTeTmTE) GTETEYT?



10.

11.

12.

13.

14.

List down any three operating systems.

gCoepid  eperm) Qeupurl®  Sewlyseamer
UL g el (H&.

What is the function of accumulator register?
Css@ sever Lglelludler FmiLieer wmg)?
Define interrupt.
FEOL —eUETILI).
Define multiprogramming.
U6 L OHFE euenFwimi.
What is the use of stack pointer?
GVL_m& LimudlessrL_M e L6 6Teurey?
What is microcomputer?
miawT et IGLITdl eTammmed eTeren?
PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

Describe process life cycle.

Qawduriger eurpens spn&law aflelfl.

Explain the concept of segmentation.

QeswarCLaer sHSams leTdE,.
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15.

16.

17.

18.

19.

20.

What is time sharing system? Explain.

Criyb LSITSH0 eremmed 6Temen? 6MlemsEs.

Discuss on fixed partitioning memory
management scheme.

Blevowrer uvgly Hlaaeus Gooreareann  Lbb
cMlemd@a.

Explain in detail about authentication.

Slamrl ugslrn unbl eNlersEs.

Explain addressing modes in 8085.

8085—-a» 2_arer eflewms auflaaner aflerss,.

Write an assembly language program to find
average of given set of numbers.

Qarhssiiul L eransafer srrefleanws smeawr H6abuef

Qumduiler pemens CHm@LiL eT(pg.
PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.

All questions carry equal marks.

Discuss the operating system as a resource
manager.

Ceupurl@® Qurdl ewey e MCamiev Ceomert
elleumd).
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21.

22.

23.

24.

25.

Discuss in detail about dead lock prevention and
avoidance.

Qewenm Blaneenws FHLILG WwHML SeATiLg @GS
ellfleuns efleurs).

Discuss the importance of flag registers in 8085.
8085—-eb o ater Gamg udlaisefler WpsHusSgeisms
afleu.

Explain any two scheduling algorithms.

THTeUG) @ rewr(h S L euemanriL(HSGILD U@q@i)a;rrrﬂggmg,
cllaTé .

Explain the working principle of Mod-10 counter.
Mod-10 erewrenfludesr Ceuener GQaliud OesmaTensHenw
cMlemd@s.

Write assembly language program for making
time delay.

Crrsens smogld Celieugnarear ameants olgmeE il aner
<0gblet Gumfluded erps).
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